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Group-A
(Multiple Choice Type Question) 1x15=15
1. Choose the correct alternative from the following :
0 g 1=22" —15x" +36x+8 then calculate i =
a) 537 ~30x+36 b) - b,
-
¢) 6x° —30x+36 d) None of these
(i) Tell which of these sets are equal:
A= [1',?,5} . B={s.t.r}.C={t.5.r} . D={r,s.1}
a) AandB b) BandC
c) AandD d) All of these
(iii)
Tell if A,B,C are subsets of the universal set S and AUB =4UC & ANB=4NC
then
a) A=B b) A=C
c) B=C d) None of these
(iv) Select the correct statement

) (BUA)N(BUC)=BU(ANC)

c)

(v)

? AN(BUC)=(AUB)N(AUC)

AN(B-C)=(AUB)—(AUC)  (A-B)U(B-C)U(C-A) = (AUB)- BNC)

If, J‘=_.}-"_-—_3LXL4
x+3
a) ¥ +5-13
- -
(x+3)

then calculate ﬂ -
ax

b) x*
(I+3f




(vi)

(vii)

(viii)

(ix)

(x)

(xi)

(xii)

(xiii)

¢) ¥ +6x-13
(x+3)°
d,. -
Calculate —(sinx?) =
d‘.
a) 2xcosx

c) 3
Calculate i(sin x%) -
ax

3 cosx®
c)

X
COS—
7

If y = log(log x) . then calculate the value of %is
a) 1

log x

c)

-
logx

If tan 4 =2_tan B =3, then identify A4+ B =

3 135°

9 60°

If cos(90" —6) = %,then identify the value of 0

a) 15'.:
C) Oﬂ

Identify if tan35° = 0.7 , then the value of tan(—665°)is
a) 0.7
c) 0

Identify the value of sec(—945")
a)

N
c) \5.

Tell which set is equivalent to the set {2, 3, 5, 7, 11}?

a) {x: x is an odd number lying between 1 and 13}
c) {x: x is a prime number less than 12}

d)

None of these

b) 2xcos(x?)
d) None

b) cosX

d)
—E—cos x°
180

b) 1
xlogx

d)

None of these

b) 45°
d 90

b) 40-.:
d) 306

b) -0.7
d) None of these

b) 1

——

B

d 1

2

b) {21, 23, 25}
d) None of these



(xiv) In this diagram

B
A={3.4,5.6,7),B={5,6,7,8, 9), tell what is C?

a) {3.4,5,6,7,8,9} b) (5,6,7)
c) {3.4,8,9} d) None of these
(xv) If Aand B are two sets, then Select the correct representation of
a) All elements eitherin Aor B b) All elements in A and B
c) All elements that are in A but notin B d) All sets that include A and B
Group-B
(Short Answer Type Questions) 3 x5=15
2. portsinz . (3)
TTcos = dx is equal to

3- ——
Show that fcosecx ~1_ cosx (3)

\f cosecx -1 1-sinx

4. Show that sin(A+B).sin(A-B )+sin(B+C).sin(B-C)+sin(C+A).sin(C-A)=0 (3)
5. A+3,x21
If [ )= ) (3)
7(x) {x’-e-irl,x<1

If [ (\) 1s continuous at x =1. Calculate the value of k.

6. Show that 00s 306° +c0s 234 +00s 162" +c0s 18°=0 (3)
OR
Show that tan35 +tan10’ +tan35". tan10° =1 (3)
Group-C
(Long Answer Type Questions) 5x6=30
1+
Show that el =cosecarcota=cot = )
l-cosa
8.
E l dJ- t tanx
valuate -, where y = {(tan x) a”} whenx == =
X ’ T T4
- 4



9.

10.

11.

12.

I )Evaluate roster form of the given sets b
A={x: X is an integer and —3 <x <7} and B={x: X is a natural number less than

6}
(INEvaluate 4 UB.ANB.

1 0 -1
Identify the inverse of the matrix (3 4 5 ) if exists.
0 -6 -7
1 3 5 _
Examine the matrix ( 2 4 9 ) as the sum of symumetric and skew-symmetric
5 7 8

matrices.

In a committee, 50 people speak French, 20 speak Spanish and 10 speak both
Spanish and French. Evaluate how many speak at least one of these two

languages?

OR
IfA={a,b,d . e}.B={b,c,e, f} and C = {d, e, f, g}
I)TestANBUC)=(ANB)UA NC)
) TestAUBNC)=(AUB)N(AUCQC)
Also test with Venn diagram
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(5)

(5)

(5)

(5)

(5)



